

Periodic boundary value problems for nonlinear impulsive fractional differential equation

Xiaojing Wang* and Chuanzhi Bai

Department of Mathematics, Huaiyin Normal University, Huaian, Jiangsu 223300, P R China

Abstract

In this paper, we investigate the existence and uniqueness of solution of the periodic boundary value problem for nonlinear impulsive fractional differential equation involving Riemann-Liouville fractional derivative by using Banach contraction principle.

Keywords: Riemann-Liouville fractional derivative; Periodic boundary value problem; Impulsive

1. Introduction

This paper deals with the existence of solutions for nonlinear impulsive fractional differential equation with periodic boundary conditions

$$D^\alpha u(t) - \lambda u(t) = f(t, u(t)), \quad t \in (0, 1] \setminus \{t_1\}, \quad 0 < \alpha \leq 1, \quad (1.1)$$

$$\lim_{t \rightarrow 0^+} t^{1-\alpha} u(t) = u(1), \quad (1.2)$$

$$\lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha} (u(t) - u(t_1)) = I(u(t_1)), \quad (1.3)$$

where D^α is the standard Riemann-Liouville fractional derivative, $\lambda \in R$, $0 < t_1 < 1$, $I \in C(R, R)$, f is continuous at every point $(t, u) \in [0, 1] \times R$.

For clarity and brevity, we restrict our attention to BVPs with one impulse, the difference between the theory of one or an arbitrary number of impulses is quite minimal.

In [1], the author investigated the existence and uniqueness of solution to initial value problems for a class of fractional differential equations

$$D^\alpha u(t) = f(t, u(t)), \quad t \in (0, T] \quad 0 < \alpha < 1, \quad (1.4)$$

$$t^{1-\alpha} u(t)|_{t=0} = u_0, \quad (1.5)$$

by using the method of upper and lower solutions and its associated monotone iterative.

*E-mail address: wangxj2010106@sohu.com

In [2], the existence and uniqueness of solution of the following fractional differential equation with periodic boundary value condition

$$D^\delta u(t) - \lambda u(t) = f(t, u(t)), \quad t \in (0, 1] \quad 0 < \delta < 1, \quad (1.6)$$

$$\lim_{t \rightarrow 0^+} t^{1-\delta} u(t) = u(1), \quad (1.7)$$

was discussed by using the fixed point theorem of Schaeffer and the Banach contraction principle.

Differential equation with fractional order have recently proved valuable tools in the modeling of many phenomena in various fields of science and engineering [3-7]. There has also been a significant theoretical development in fractional differential equations in recent years, see for examples [8-19]. Recently, many researchers paid attention to existence result of solution of the initial value problem and boundary value problem for fractional differential equations, such as [20-25].

Impulsive differential equations are now recognized as an excellent source of models to simulate process and phenomena observed in control theory, physics, chemistry, population dynamics, biotechnology, industrial robotic, optimal control, etc. [26,27]. Periodic boundary value for impulsive differential equation has drawn much attention, see [28-31]. Anti-periodic problems constitute an important class of boundary value problems and have recently received considerable attention. The recent results on anti-periodic BVPs or impulsive anti-periodic BVPs of fractional differential equations can be found in [32-35]. But till now, the theory of boundary value problems for nonlinear fractional differential equations is still in the initial stages. For some recent work on impulsive fractional differential equations, see [36-41] and the references therein.

To the best of the authors knowledge, no one has studied the existence of solutions for BVP (1.1)-(1.3). The purpose of this paper is to study the existence and uniqueness of solution of the periodic boundary value problem for nonlinear impulsive fractional differential equation involving Riemann-Liouville fractional derivative by using Banach contraction principle.

2. Preliminaries

In this section, we introduce notations, definitions, and preliminary facts which are used throughout this paper. Let $C(a, b)$ ($C[a, b]$) be the Banach space of all continuous real functions defined on (a, b) ($[a, b]$).

In order to define the solution of (1.1)-(1.3) we shall consider the space

$$PC_r[0, 1] = \{x : t^r x|_{[0, t_1]} \in C[0, t_1], (t - t_1)^r x|_{(t_1, 1]} \in C(t_1, 1],$$

$$\text{there exist } \lim_{t \rightarrow t_1^+} (t - t_1)^r x(t) \text{ and } x(t_1^-) \text{ with } x(t_1^-) = x(t_1)\},$$

where constant $0 \leq r < 1$. It is easy to check that the space $PC_r[0, 1]$ is a Banach space with norm

$$\|x\|_r = \max\{\sup\{t^r |x(t)| : t \in [0, t_1]\}, \sup\{(t - t_1)^r |x(t)| : t \in (t_1, 1]\}\}.$$

Remark 2.1. If $r = 0$, then the definition of $PC_r[0, 1]$ reduces to the following

$$PC[0, 1] = \{x : x|_{[0, t_1]} \in C[0, t_1], x|_{(t_1, 1]} \in C(t_1, 1],$$

$$\text{there exist } x(t_1^-) \text{ and } x(t_1^+) \text{ with } x(t_1^-) = x(t_1)\}.$$

And the space $PC[0, 1]$ is a Banach space with norm

$$\|x\|_{PC} = \sup\{|x(t)| : t \in [0, 1]\}.$$

Lemma 2.1. *The linear impulsive boundary value problem*

$$D^\alpha u(t) - \lambda u(t) = \sigma(t), \quad t \in (0, 1] \setminus \{t_1\}, \quad (2.1)$$

$$\lim_{t \rightarrow 0^+} t^{1-\alpha} u(t) = u(1), \quad (2.2)$$

$$\lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha} (u(t) - u(t_1)) = a_1, \quad (2.3)$$

where $\lambda, a_1 \in R$ are constants and $\sigma \in C[0, 1]$, has a unique solution $u \in PC_{1-\alpha}[0, 1]$ given by

$$u(t) = \int_0^1 G_{\lambda, \alpha}(t, s) \sigma(s) ds + \Gamma(\alpha) G_{\lambda, \alpha}(t, t_1) a_1, \quad (2.4)$$

where

$$G_{\lambda, \alpha}(t, s) = \begin{cases} \frac{\Gamma(\alpha) E_{\alpha, \alpha}(\lambda t^\alpha) E_{\alpha, \alpha}(\lambda (1-s)^\alpha) t^{\alpha-1} (1-s)^{\alpha-1}}{1 - \Gamma(\alpha) E_{\alpha, \alpha}(\lambda)} + (t - s)^{\alpha-1} E_{\alpha, \alpha}(\lambda (t - s)^\alpha), & 0 \leq s \leq t \leq 1, \\ \frac{\Gamma(\alpha) E_{\alpha, \alpha}(\lambda t^\alpha) E_{\alpha, \alpha}(\lambda (1-s)^\alpha) t^{\alpha-1} (1-s)^{\alpha-1}}{1 - \Gamma(\alpha) E_{\alpha, \alpha}(\lambda)}, & 0 \leq t < s \leq 1, \end{cases}$$

and $E_{\alpha, \alpha}(\lambda) = \sum_{k=0}^{\infty} \frac{\lambda^k}{\Gamma((k+1)\alpha)}$ is Mittag-Leffler function (see [6]).

Proof. By Theorem 3.2 in [2], we have that

$$\bar{u}(t) = \int_0^1 G_{\lambda, \alpha}(t, s) \sigma(s) ds, \quad t \in (0, 1] \setminus \{t_1\} \quad (2.5)$$

is a unique solution of the linear problem (2.1)-(2.2), and $\bar{u} \in PC_{1-\alpha}[0, 1]$. Set

$$w(t) = G_{\lambda, \alpha}(t, t_1)\Gamma(\alpha)a_1, \quad t \in [0, 1].$$

For each $t < t_1$, we have

$$\begin{aligned} D^\alpha w(t) &= \frac{\Gamma(\alpha)^2 E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} a_1}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} D^\alpha(t^{\alpha-1} E_{\alpha, \alpha}(\lambda t^\alpha)) \\ &= \frac{\Gamma(\alpha)^2 E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} a_1}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} D^\alpha \left(\sum_{i=1}^{\infty} \frac{\lambda^{i-1}}{\Gamma(\alpha i)} t^{\alpha i-1} \right). \end{aligned}$$

Using the identities

$$D^\alpha t^\mu = \frac{\Gamma(\mu+1)}{\Gamma(\mu+1-\alpha)} t^{\mu-\alpha} \quad (\mu > -1), \quad D^\alpha t^{\alpha-1} = 0,$$

we get

$$\begin{aligned} D^\alpha w(t) &= \frac{\Gamma(\alpha)^2 E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} a_1}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} \sum_{i=2}^{\infty} \frac{\lambda^{i-1}}{\Gamma(\alpha(i-1))} t^{\alpha(i-1)-1} \\ &= \lambda \frac{\Gamma(\alpha)^2 E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} a_1}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} \sum_{i=1}^{\infty} \frac{(-\lambda)^{i-1}}{\Gamma(\alpha i)} t^{\alpha i-1} \\ &= \lambda \frac{\Gamma(\alpha)^2 E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} a_1}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} t^{\alpha-1} \sum_{i=0}^{\infty} \frac{(\lambda t^\alpha)^i}{\Gamma(\alpha i + \alpha)} \\ &= \lambda \frac{\Gamma(\alpha) E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} t^{\alpha-1} E_{\alpha, \alpha}(\lambda t^\alpha)}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} \Gamma(\alpha) a_1 \\ &= \lambda G_{\alpha, \alpha}(t, t_1)\Gamma(\alpha)a_1 = \lambda w(t), \quad t < t_1. \end{aligned}$$

Similarly, we can obtain that

$$D^\alpha w(t) - \lambda w(t) = 0, \quad t > t_1.$$

Thus, we have $D^\alpha w(t) - \lambda w(t) = 0$ for $t \in (0, 1] \setminus \{t_1\}$. Moreover, we have

$$\begin{aligned} &\lim_{t \rightarrow 0^+} t^{1-\alpha} w(t) - w(1) \\ &= \lim_{t \rightarrow 0^+} t^{1-\alpha} \frac{\Gamma(\alpha)^2 E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} a_1 t^{\alpha-1} E_{\alpha, \alpha}(\lambda t^\alpha)}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} \\ &\quad - \left(\frac{\Gamma(\alpha) E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} E_{\alpha, \alpha}(\lambda)}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} + (1-t_1)^{\alpha-1} E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha) \right) \Gamma(\alpha) a_1 \\ &= \frac{\Gamma(\alpha) E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha)(1-t_1)^{\alpha-1} a_1}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} - \frac{(1-t_1)^{\alpha-1} E_{\alpha, \alpha}(\lambda(1-t_1)^\alpha) \Gamma(\alpha) a_1}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} \end{aligned}$$

$$= 0,$$

and

$$\begin{aligned} & \lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha} (w(t) - w(t_1)) \\ &= \lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha} \cdot (t - t_1)^{\alpha-1} E_{\alpha,\alpha}(\lambda(t - t_1)^\alpha) \Gamma(\alpha) a_1 \\ &= \lim_{t \rightarrow t_1^+} E_{\alpha,\alpha}(\lambda(t - t_1)^\alpha) \Gamma(\alpha) a_1 = \lim_{t \rightarrow t_1^+} \sum_{i=0}^{\infty} \frac{(\lambda(t - t_1)^\alpha)^i}{\Gamma(\alpha i + \alpha)} \Gamma(\alpha) a_1 \\ &= \frac{1}{\Gamma(\alpha)} \Gamma(\alpha) a_1 = a_1. \end{aligned}$$

In consequence,

$$u(t) = \bar{u}(t) + w(t) = \int_0^1 G_{\lambda,\alpha}(t, s) \sigma(s) ds + \Gamma(\alpha) G_{\lambda,\alpha}(t, t_1) a_1$$

is the solution of problem (2.1)-(2.3).

Next we prove that the solution of BVP (2.1)-(2.3) is unique. Suppose that $u_1, u_2 \in PC_{1-\alpha}[0, 1]$ are two solutions of BVP (2.1)-(2.3). Let $v = u_1 - u_2$, then we have

$$D^\alpha v(t) - \lambda v(t) = 0, \quad t \in (0, 1] \setminus \{t_1\}, \quad (2.6)$$

$$\lim_{t \rightarrow 0^+} t^{1-\alpha} v(t) - v(1) = 0, \quad (2.7)$$

$$\lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha} (v(t) - v(t_1)) = 0. \quad (2.8)$$

By (2.5) and (2.6)-(2.7), we get that $v(t) \equiv 0$ for any $t \in (0, 1] \setminus \{t_1\}$. Since $v \in PC_{1-\alpha}[0, 1]$, we have $\lim_{t \rightarrow t_1^-} t^{1-\alpha} v(t) = t_1^{1-\alpha} v(t_1)$. On the other hand, $\lim_{t \rightarrow t_1^-} t^{1-\alpha} v(t) = 0$. Thus, we obtain that $v(t_1) = 0$. Hence, $u_1(t) = u_2(t)$ for each $t \in (0, 1]$. Moreover, by (2.7), we have $\lim_{t \rightarrow 0^+} t^{1-\alpha} v(t) = v(1) = 0$, which implies that $\lim_{t \rightarrow 0^+} t^{1-\alpha} u_1(t) = \lim_{t \rightarrow 0^+} t^{1-\alpha} u_2(t)$. Therefore, $u_1 = u_2$.

Remark 2.2. For $\alpha = 1$, Lemma 2.1 reduces to the one for a first order linear impulsive boundary value problem

3. Main results

Lemma 3.1. *Suppose that*

(H₁) *there exist positive constants M and m such that*

$$|f(t, u)| \leq M, \quad |I(u)| \leq m, \quad \forall t \in [0, 1], \quad u \in R, \quad (3.1)$$

holds, then the operator $A : PC_{1-\alpha}[0, 1] \rightarrow PC_{1-\alpha}[0, 1]$ is well defined.

Proof. Define the operator A as follows :

$$(Ax)(t) := \int_0^1 G_{\lambda, \alpha}(t, s)f(s, x(s))ds + \Gamma(\alpha)G_{\lambda, \alpha}(t, t_1)I(x(t_1)). \quad (3.2)$$

By Lemma 2.1, it is easy to see that a function x is a solution to (1.1)-(1.3) if and only if x is a fixed point of A . Using (H_1) , we check that $t^{1-\alpha}(Au)(t)|_{[0, t_1]} \in C[0, t_1]$ and $(t - t_1)^{1-\alpha}(Au)(t)|_{(t_1, 1]} \in C(t_1, 1]$. Here, we only prove that $(t - t_1)^{1-\alpha}(Au)(t)|_{(t_1, 1]} \in C(t_1, 1]$. Similarly, we can prove that $t^{1-\alpha}(Au)(t)|_{[0, t_1]} \in C[0, t_1]$. For every $u \in PC_{1-\alpha}[0, 1]$, for any $\tau_1, \tau_2 \in (t_1, 1]$ with $\tau_1 < \tau_2$, we have

$$\begin{aligned} & \left| (\tau_1 - t_1)^{1-\alpha}(Au)(\tau_1) - (\tau_2 - t_1)^{1-\alpha}(Au)(\tau_2) \right| \\ & \leq \left| (\tau_1 - t_1)^{1-\alpha} \int_0^1 G_{\lambda, \alpha}(\tau_1, s)f(s, u(s))ds - (\tau_2 - t_1)^{1-\alpha} \int_0^1 G_{\lambda, \alpha}(\tau_2, s)f(s, u(s))ds \right| \\ & \quad + \left| (\tau_1 - t_1)^{1-\alpha} \Gamma(\alpha)G_{\lambda, \alpha}(\tau_1, t_1)I(u(t_1)) - (\tau_2 - t_1)^{1-\alpha} \Gamma(\alpha)G_{\lambda, \alpha}(\tau_2, t_1)I(u(t_1)) \right| \\ & = \left| \int_0^1 \frac{\Gamma(\alpha)E_{\alpha, \alpha}(\lambda(1-s)^\alpha)(1-s)^{\alpha-1}}{1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)} \right. \\ & \quad \times [(\tau_1 - t_1)^{1-\alpha} E_{\alpha, \alpha}(\lambda\tau_1^\alpha)\tau_1^{\alpha-1} - (\tau_2 - t_1)^{1-\alpha} E_{\alpha, \alpha}(\lambda\tau_2^\alpha)\tau_2^{\alpha-1}] f(s, u(s)) ds \\ & \quad + \int_0^{\tau_1} [(\tau_1 - t_1)^{1-\alpha} (\tau_1 - s)^{\alpha-1} E_{\alpha, \alpha}(\lambda(\tau_1 - s)^\alpha) \\ & \quad \left. - (\tau_2 - t_1)^{1-\alpha} (\tau_2 - s)^{\alpha-1} E_{\alpha, \alpha}(\lambda(\tau_2 - s)^\alpha)] f(s, u(s)) ds \right. \\ & \quad \left. - \int_{\tau_1}^{\tau_2} (\tau_2 - t_1)^{1-\alpha} (\tau_2 - s)^{\alpha-1} E_{\alpha, \alpha}(\lambda(\tau_2 - s)^\alpha) f(s, u(s)) ds \right| \\ & \quad + \left| [(\tau_1 - t_1)^{1-\alpha} G_{\lambda, \alpha}(\tau_1, t_1) - (\tau_2 - t_1)^{1-\alpha} G_{\lambda, \alpha}(\tau_2, t_1)] \Gamma(\alpha) I(u(t_1)) \right| \\ & \leq \frac{\Gamma(\alpha)M}{|1 - \Gamma(\alpha)E_{\alpha, \alpha}(\lambda)|} |(\tau_1 - t_1)^{1-\alpha} E_{\alpha, \alpha}(\lambda\tau_1^\alpha)\tau_1^{\alpha-1} - (\tau_2 - t_1)^{1-\alpha} E_{\alpha, \alpha}(\lambda\tau_2^\alpha)\tau_2^{\alpha-1}| \\ & \quad \times \int_0^1 E_{\alpha, \alpha}(\lambda(1-s)^\alpha)(1-s)^{\alpha-1} ds \\ & \quad + M((\tau_2 - t_1)^{1-\alpha} - (\tau_1 - t_1)^{1-\alpha}) \int_0^{\tau_1} (\tau_1 - s)^{\alpha-1} E_{\alpha, \alpha}(\lambda(\tau_1 - s)^\alpha) ds \\ & \quad + M(\tau_2 - t_1)^{1-\alpha} \int_0^{\tau_1} |(\tau_1 - s)^{\alpha-1} E_{\alpha, \alpha}(\lambda(\tau_1 - s)^\alpha) - (\tau_2 - s)^{\alpha-1} E_{\alpha, \alpha}(\lambda(\tau_2 - s)^\alpha)| ds \end{aligned}$$

$$\begin{aligned}
& +M(\tau_2 - t_1)^{1-\alpha} \int_{\tau_1}^{\tau_2} (\tau_2 - s)^{\alpha-1} E_{\alpha,\alpha}(\lambda(\tau_2 - s)^\alpha) ds \\
& + \frac{\Gamma^2(\alpha)mE_{\alpha,\alpha}(\lambda(1 - t_1)^\alpha)(1 - t_1)^{1-\alpha}}{|1 - \Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} \\
& \quad \times |(\tau_1 - t_1)^{1-\alpha}\tau_1^{\alpha-1}E_{\alpha,\alpha}(\lambda\tau_1^\alpha) - (\tau_2 - t_1)^{1-\alpha}\tau_2^{\alpha-1}E_{\alpha,\alpha}(\lambda\tau_2^\alpha)| \\
& + |E_{\alpha,\alpha}(\lambda(\tau_1 - t_1)^\alpha) - E_{\alpha,\alpha}(\lambda(\tau_2 - t_1)^\alpha)| \\
& \rightarrow 0, \quad \text{as } \tau_1 \rightarrow \tau_2,
\end{aligned}$$

since

$$\begin{aligned}
& \int_0^1 E_{\alpha,\alpha}(\lambda(1 - s)^\alpha)(1 - s)^{\alpha-1} ds = E_{\alpha,\alpha+1}(\lambda) \leq E_{\alpha,\alpha+1}(|\lambda|), \\
& \int_0^{\tau_1} E_{\alpha,\alpha}(\lambda(\tau_1 - s)^\alpha)(\tau_1 - s)^{\alpha-1} ds = \tau_1^\alpha E_{\alpha,\alpha+1}(\lambda\tau_1^\alpha) \leq \tau_1^\alpha E_{\alpha,\alpha+1}(|\lambda|\tau_1^\alpha), \\
& \int_{\tau_1}^{\tau_2} E_{\alpha,\alpha}(\lambda(\tau_2 - s)^\alpha)(\tau_2 - s)^{\alpha-1} ds = (\tau_2 - \tau_1)^\alpha E_{\alpha,\alpha+1}(\lambda(\tau_2 - \tau_1)^\alpha),
\end{aligned}$$

and

$$\begin{aligned}
& \int_0^{\tau_1} |(\tau_1 - s)^{\alpha-1} E_{\alpha,\alpha}(\lambda(\tau_1 - s)^\alpha) - (\tau_2 - s)^{\alpha-1} E_{\alpha,\alpha}(\lambda(\tau_2 - s)^\alpha)| ds \\
& \leq \sum_{i=0}^{\infty} \frac{|\lambda|^i}{\Gamma(\alpha i + \alpha)} \int_0^{\tau_1} |(\tau_1 - s)^{\alpha i + \alpha - 1} - (\tau_2 - s)^{\alpha i + \alpha - 1}| ds
\end{aligned}$$

tend to zero as $\tau_1 \rightarrow \tau_2$ by (4.13) and (4.14) in [2].

So, $(t - t_1)^{1-\alpha}(Au)(t)|_{(t_1,1]} \in C(t_1, 1]$. On the other hand, we have $\lim_{t \rightarrow t_1^-} (Au)(t)$ and

$$\begin{aligned}
& \lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha}(Au)(t) \\
& = \lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha} \left[\int_0^1 \frac{\Gamma(\alpha)E_{\alpha,\alpha}(\lambda t^\alpha)E_{\alpha,\alpha}(\lambda(1 - s)^\alpha)t^{\alpha-1}(1 - s)^{\alpha-1}}{1 - \Gamma(\alpha)E_{\alpha,\alpha}(\lambda)} f(s, u(s)) ds \right. \\
& \quad + \int_0^t (t - s)^{\alpha-1} E_{\alpha,\alpha}(\lambda(t - s)^\alpha) f(s, u(s)) ds \\
& \quad + \Gamma(\alpha) \left(\frac{\Gamma(\alpha)E_{\alpha,\alpha}(\lambda t^\alpha)E_{\alpha,\alpha}(\lambda(1 - t_1)^\alpha)t^\alpha(1 - t_1)^{\alpha-1}}{1 - \Gamma(\alpha)E_{\alpha,\alpha}(\lambda)} \right. \\
& \quad \left. \left. + (t - t_1)^{\alpha-1} E_{\alpha,\alpha}(\lambda(t - t_1)^\alpha) \right) I(u(t_1)) \right] \\
& = \lim_{t \rightarrow t_1^+} (t - t_1)^{1-\alpha} \cdot \Gamma(\alpha)(t - t_1)^{\alpha-1} E_{\alpha,\alpha}(\lambda(t - t_1)^\alpha) I(u(t_1))
\end{aligned}$$

$$= I(u(t_1))$$

exist. Thus, $A : PC_{1-\alpha}[0, 1] \rightarrow PC_{1-\alpha}[0, 1]$.

For convenience, set

$$M_1 := \frac{\Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|)(1-t_1)^{\alpha-1}t_1^\alpha}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\alpha} + t_1^\alpha E_{\alpha,\alpha}(|\lambda|t_1^\alpha) \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)}, \quad (3.3)$$

$$M_2 := \frac{(\Gamma(\alpha))^3 E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)(1-t_1)^{2\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\Gamma(2\alpha)}, \quad (3.4)$$

$$M_3 := \begin{cases} \frac{\Gamma(\alpha)(E_{\alpha,\alpha}(|\lambda|))^2 t_1^{2\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\alpha} + t_1^{2\alpha-1}(1-t_1)^{1-\alpha} E_{\alpha,\alpha}(|\lambda|) \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)}, & \text{if } 0 < \alpha \leq \frac{1}{2}, \\ \frac{\Gamma(\alpha)(E_{\alpha,\alpha}(|\lambda|))^2 t_1^{2\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\alpha} + (1-t_1)^{1-\alpha} E_{\alpha,\alpha}(|\lambda|) \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)}, & \text{if } \frac{1}{2} < \alpha \leq 1, \end{cases} \quad (3.5)$$

$$M_4 := \frac{(\Gamma(\alpha))^3 E_{\alpha,\alpha}(|\lambda|)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{\alpha-1}(1-t_1)^\alpha}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\Gamma(2\alpha)}, \quad (3.6)$$

$$N_1 := \frac{(\Gamma(\alpha))^2 E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{\alpha-1}(1-t_1)^{\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|}, \quad (3.7)$$

$$N_2 := \frac{(\Gamma(\alpha))^2 E_{\alpha,\alpha}(|\lambda|)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{2\alpha-2}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} + \Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{\alpha-1}. \quad (3.8)$$

Theorem 3.2. Suppose that (H_1) and the following condition hold:

(H_2) there exist positive constant k , and l such that

$$|f(t, u) - f(t, v)| \leq k|u - v|, \quad |I(u) - I(v)| \leq l|u - v|, \quad \forall t \in [0, 1], \quad u, v \in \mathbb{R}. \quad (3.9)$$

Then the problem (1.1)-(1.3) has a unique solution in $PC_{1-\alpha}[0, 1]$, provided that

$$\max\{k(M_1 + M_2) + lN_1, k(M_3 + M_4) + lN_2\} < 1. \quad (3.10)$$

Proof. By (H_1) and Lemma 3.1, we have $A : PC_{1-\alpha}[0, 1] \rightarrow PC_{1-\alpha}[0, 1]$. For any $x, y \in PC_{1-\alpha}[0, 1]$, and each $t \in [0, t_1]$, we obtain by (H_2) that

$$\begin{aligned} t^{1-\alpha}|(Ax)(t) - (Ay)(t)| &\leq \int_0^1 t^{1-\alpha}|G_{\lambda,\alpha}(t, s)||f(s, x(s)) - f(s, y(s))|ds \\ &\quad + t^{1-\alpha}\Gamma(\alpha)|G_{\lambda,\alpha}(t, t_1)||I(x(t_1)) - I(y(t_1))| \\ &\leq \int_0^1 t^{1-\alpha}|G_{\lambda,\alpha}(t, s)|k|x(s) - y(s)|ds + t^{1-\alpha}\Gamma(\alpha)|G_{\lambda,\alpha}(t, t_1)||I(x(t_1)) - I(y(t_1))| \\ &= k \int_0^{t_1} t^{1-\alpha}|G_{\lambda,\alpha}(t, s)|s^{\alpha-1}s^{1-\alpha}|x(s) - y(s)|ds \end{aligned}$$

$$\begin{aligned}
& +k \int_{t_1}^1 t^{1-\alpha} |G_{\lambda,\alpha}(t,s)|(s-t_1)^{\alpha-1}(s-t_1)^{1-\alpha} |x(s) - y(s)| ds \\
& +l\Gamma(\alpha)t^{1-\alpha} |G_{\lambda,\alpha}(t,t_1)|t_1^{\alpha-1}t_1^{1-\alpha} |x(t_1) - y(t_1)| \\
\leq & \|x - y\|_{1-\alpha} \left[k \int_0^{t_1} t^{1-\alpha} |G_{\lambda,\alpha}(t,s)|s^{\alpha-1} ds \right. \\
& \left. +k \int_{t_1}^1 t^{1-\alpha} |G_{\lambda,\alpha}(t,s)|(s-t_1)^{\alpha-1} ds + l\Gamma(\alpha)t^{1-\alpha} |G_{\lambda,\alpha}(t,t_1)|t_1^{\alpha-1} \right]. \tag{3.11}
\end{aligned}$$

From the expression of $G_{\lambda,\alpha}(t,s)$, and (4.21) in [2], we have

$$\begin{aligned}
\int_0^{t_1} t^{1-\alpha} |G_{\lambda,\alpha}(t,s)|s^{\alpha-1} ds & \leq \int_0^{t_1} t^{1-\alpha} \left| \frac{\Gamma(\alpha)E_{\alpha,\alpha}(\lambda t^\alpha)E_{\alpha,\alpha}(\lambda(1-s)^\alpha)t^{\alpha-1}(1-s)^{\alpha-1}}{1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)} \right| s^{\alpha-1} ds \\
& + \int_0^t t^{1-\alpha}(t-s)^{\alpha-1} |E_{\alpha,\alpha}(\lambda(t-s)^\alpha)|s^{\alpha-1} ds \\
\leq & \frac{\Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|)(1-t_1)^{\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} \int_0^{t_1} s^{\alpha-1} ds \\
& + t^{1-\alpha} E_{\alpha,\alpha}(|\lambda|t_1^\alpha) \int_0^t (t-s)^{\alpha-1} s^{\alpha-1} ds \\
= & \frac{\Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|)(1-t_1)^{\alpha-1}t_1^\alpha}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\alpha} + t^\alpha E_{\alpha,\alpha}(|\lambda|t_1^\alpha) \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)} \\
\leq & \frac{\Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|)(1-t_1)^{\alpha-1}t_1^\alpha}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\alpha} + t_1^\alpha E_{\alpha,\alpha}(|\lambda|t_1^\alpha) \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)} = M_1. \tag{3.12}
\end{aligned}$$

And

$$\begin{aligned}
& \int_{t_1}^1 t^{1-\alpha} |G_{\lambda,\alpha}(t,s)|(s-t_1)^{\alpha-1} ds \\
\leq & \int_{t_1}^1 t^{1-\alpha} \left| \frac{\Gamma(\alpha)E_{\alpha,\alpha}(\lambda t^\alpha)E_{\alpha,\alpha}(\lambda(1-s)^\alpha)t^{\alpha-1}(1-s)^{\alpha-1}}{1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)} \right| (s-t_1)^{\alpha-1} ds \\
\leq & \frac{\Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} \int_{t_1}^1 (1-s)^{\alpha-1}(s-t_1)^{\alpha-1} ds \\
= & \frac{(\Gamma(\alpha))^3 E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)(1-t_1)^{2\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\Gamma(2\alpha)} = M_2, \tag{3.13}
\end{aligned}$$

since

$$\int_{t_1}^1 (1-s)^{\alpha-1}(s-t_1)^{\alpha-1} ds = \int_0^{1-t_1} s^{\alpha-1}(1-t_1-s)^{\alpha-1} ds = (1-t_1)^{2\alpha-1} \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)}. \tag{3.14}$$

Moreover, we have

$$\begin{aligned} & \Gamma(\alpha)t^{1-\alpha}|G_{\lambda,\alpha}(t,t_1)|t_1^{\alpha-1} \\ & \leq \frac{(\Gamma(\alpha))^2 E_{\alpha,\alpha}(|\lambda|t_1^\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{\alpha-1}(1-t_1)^{\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} = N_1. \end{aligned} \quad (3.15)$$

Substituting (3.12), (3.13) and (3.15) into (3.11), we get

$$\sup_{t \in [0,t_1]} t^{1-\alpha}|(Ax)(t) - (Ay)(t)| \leq (k(M_1 + M_2) + N_1)\|x - y\|_{1-\alpha}. \quad (3.16)$$

On the other hand, for each $x, y \in PC_{1-\alpha}[0, 1]$ and $t \in (t_1, 1]$, we obtain that

$$\begin{aligned} & (t - t_1)^{1-\alpha}|(Ax)(t) - (Ay)(t)| \\ & \leq \int_0^1 (t - t_1)^{1-\alpha}|G_{\lambda,\alpha}(t,s)||f(s,x(s)) - f(s,y(s))|ds \\ & \quad + (t - t_1)^{1-\alpha}\Gamma(\alpha)|G_{\lambda,\alpha}(t,t_1)||I(x(t_1)) - I(y(t_1))| \\ & \leq \int_0^1 (t - t_1)^{1-\alpha}|G_{\lambda,\alpha}(t,s)|k|x(s) - y(s)|ds \\ & \quad + (t - t_1)^{1-\alpha}\Gamma(\alpha)|G_{\lambda,\alpha}(t,t_1)|l|x(t_1) - y(t_1)| \\ & = k \int_0^{t_1} (t - t_1)^{1-\alpha}|G_{\lambda,\alpha}(t,s)|s^{\alpha-1}s^{1-\alpha}|x(s) - y(s)|ds \\ & \quad + k \int_{t_1}^1 (t - t_1)^{1-\alpha}|G_{\lambda,\alpha}(t,s)|(s - t_1)^{\alpha-1}(s - t_1)^{1-\alpha}|x(s) - y(s)|ds \\ & \quad + (t - t_1)^{1-\alpha}\Gamma(\alpha)l|G_{\lambda,\alpha}(t,t_1)|t_1^{\alpha-1}t_1^{1-\alpha}|x(t_1) - y(t_1)| \\ & \leq \|x - y\|_{1-\alpha} \left[k \int_0^{t_1} (t - t_1)^{1-\alpha}|G_{\lambda,\alpha}(t,s)|s^{\alpha-1}ds \right. \\ & \quad \left. + k \int_{t_1}^1 (t - t_1)^{1-\alpha}|G_{\lambda,\alpha}(t,s)|(s - t_1)^{\alpha-1}ds + l\Gamma(\alpha)|G_{\lambda,\alpha}(t,t_1)|(t - t_1)^{1-\alpha}t_1^{\alpha-1} \right]. \end{aligned} \quad (3.17)$$

By (4.21) in [2], we have

$$\begin{aligned} & \int_0^{t_1} (t - t_1)^{1-\alpha}|G_{\lambda,\alpha}(t,s)|s^{\alpha-1}ds \\ & \leq \int_0^{t_1} (t - t_1)^{1-\alpha} \left| \frac{\Gamma(\alpha)E_{\alpha,\alpha}(\lambda t^\alpha)E_{\alpha,\alpha}(\lambda(1-s)^\alpha)t^{\alpha-1}(1-s)^{\alpha-1}}{1 - \Gamma(\alpha)E_{\alpha,\alpha}(\lambda)} \right| s^{\alpha-1}ds \\ & \quad + \int_0^t (t - t_1)^{1-\alpha}(t - s)^{\alpha-1}|E_{\alpha,\alpha}(\lambda(t - s)^\alpha)|s^{\alpha-1}ds \end{aligned}$$

$$\begin{aligned}
&\leq (1-t_1)^{1-\alpha} \frac{\Gamma(\alpha)(E_{\alpha,\alpha}(|\lambda|))^2 t_1^{\alpha-1} (1-t_1)^{\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} \int_0^{t_1} s^{\alpha-1} ds \\
&\quad + (1-t_1)^{1-\alpha} E_{\alpha,\alpha}(|\lambda|) \int_0^t (t-s)^{\alpha-1} s^{\alpha-1} ds \\
&= \frac{\Gamma(\alpha)(E_{\alpha,\alpha}(|\lambda|))^2 t_1^{2\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\alpha} + (1-t_1)^{1-\alpha} E_{\alpha,\alpha}(|\lambda|) t^{2\alpha-1} \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)} \\
&\leq \frac{\Gamma(\alpha)(E_{\alpha,\alpha}(|\lambda|))^2 t_1^{2\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\alpha} \\
&\quad + \begin{cases} t_1^{2\alpha-1} (1-t_1)^{1-\alpha} E_{\alpha,\alpha}(|\lambda|) \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)}, & \text{if } 0 < \alpha \leq \frac{1}{2}, \\ (1-t_1)^{1-\alpha} E_{\alpha,\alpha}(|\lambda|) \frac{(\Gamma(\alpha))^2}{\Gamma(2\alpha)}, & \text{if } \frac{1}{2} < \alpha \leq 1, \end{cases} \\
&= M_3. \tag{3.18}
\end{aligned}$$

From (3.14), we get

$$\begin{aligned}
&\int_{t_1}^1 (t-t_1)^{1-\alpha} |G_{\lambda,\alpha}(t,s)|(s-t_1)^{\alpha-1} ds \\
&= \int_{t_1}^1 (t-t_1)^{1-\alpha} \left| \frac{\Gamma(\alpha)E_{\alpha,\alpha}(\lambda t^\alpha)E_{\alpha,\alpha}(\lambda(1-s)^\alpha)t^{\alpha-1}(1-s)^{\alpha-1}}{1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)} \right| (s-t_1)^{\alpha-1} ds \\
&\leq (1-t_1)^{1-\alpha} \frac{\Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} \int_{t_1}^1 (s-t_1)^{\alpha-1}(1-s)^{\alpha-1} ds \\
&= \frac{(\Gamma(\alpha))^3 E_{\alpha,\alpha}(|\lambda|)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{\alpha-1}(1-t_1)^\alpha}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|\Gamma(2\alpha)} = M_4. \tag{3.19}
\end{aligned}$$

Moreover, we have

$$\begin{aligned}
&\Gamma(\alpha)|G_{\lambda,\alpha}(t,t_1)|(t-t_1)^{1-\alpha}t_1^{\alpha-1} \\
&\leq \frac{(\Gamma(\alpha))^2 E_{\alpha,\alpha}(|\lambda|t^\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t^{\alpha-1}(1-t_1)^{\alpha-1}(t-t_1)^{1-\alpha}t_1^{\alpha-1}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} \\
&\quad + \Gamma(\alpha)t_1^{\alpha-1} E_{\alpha,\alpha}(|\lambda|(t-t_1)^\alpha) \\
&\leq \frac{(\Gamma(\alpha))^2 E_{\alpha,\alpha}(|\lambda|)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{2\alpha-2}}{|1-\Gamma(\alpha)E_{\alpha,\alpha}(\lambda)|} \\
&\quad + \Gamma(\alpha)E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha)t_1^{\alpha-1} = N_2. \tag{3.20}
\end{aligned}$$

Substituting (3.18)-(3.20) into (3.17), we obtain

$$\sup_{t \in (t_1, 1]} (t-t_1)^{1-\alpha} |(Ax)(t) - (Ay)(t)| \leq (k(M_3 + M_4) + lN) \|x - y\|_{1-\alpha}. \tag{3.21}$$

From (3.11), (3.16) and (3.21), we have

$$\begin{aligned} & \|Ax - Ay\|_{1-\alpha} \\ &= \max \left\{ \sup_{t \in [0, t_1]} t^{1-\alpha} |(Ax)(t) - (Ay)(t)|, \sup_{t \in (t_1, 1]} (t - t_1)^{1-\alpha} |(Ax)(t) - (Ay)(t)| \right\} \\ &\leq \max\{k(M_1 + M_2) + lN_1, k(M_3 + M_4) + lN_2\} \|x - y\|_{1-\alpha}, \end{aligned} \quad (3.22)$$

which implies that A is a contraction (by (3.10)). Therefore it has a unique fixed point.

4. An example

The following illustrative example will demonstrate the effectiveness of our main result.

Example 4.1. Consider the nonlinear impulsive fractional differential equation with periodic boundary conditions as follows:

$$D^{0.9}u(t) - \frac{1}{3}u(t) = \frac{t^2}{t^2 + 11} \arctan u(t), \quad t \in (0, 1] \setminus \{0.5\}, \quad (4.1)$$

$$\lim_{t \rightarrow 0^+} t^{0.1}u(t) = u(1), \quad (4.2)$$

$$\lim_{t \rightarrow 0.5^+} (t - 0.5)^{0.1}(u(t) - u(0.5)) = \frac{1}{13} \sin(u(0.5)). \quad (4.3)$$

Then BVP (4.1)-(4.3) reduces to BVP (1.1)-(1.3) with $\alpha = 0.9$, $\lambda = \frac{1}{3}$, $f(t, u) = \frac{t^2}{t^2 + 11} \arctan u$, $I(u) = \frac{1}{13} \sin u$ and $t_1 = 0.5$.

Obviously, there exist positive constants $M = \frac{\pi}{24}$, $m = \frac{1}{13}$, $k = \frac{1}{12}$ and $l = \frac{1}{13}$ such that

$$|f(t, u)| \leq M, \quad |I(u)| \leq m, \quad t \in [0, 1], \quad u \in R,$$

and

$$|f(t, u) - f(t, v)| \leq k|u - v|, \quad |I(u) - I(v)| \leq l|u - v|, \quad t \in [0, 1], \quad u, v \in R.$$

So that the conditions (H_1) and (H_2) hold. Moreover, we have

$$E_{\alpha, \alpha}(\lambda) = E_{0.9, 0.9} \left(\frac{1}{3} \right) = \frac{1}{\Gamma(0.9)} + \frac{1}{3\Gamma(1.8)} + \frac{1}{3^2\Gamma(2.7)} + \frac{1}{3^3\Gamma(3.6)} + \frac{1}{3^4\Gamma(4.5)} + \dots$$

Thus, we obtain

$$E_{0.9, 0.9} \left(\frac{1}{3} \right) > \frac{1}{\Gamma(0.9)} + \frac{1}{3\Gamma(1.8)} + \frac{1}{3^2\Gamma(2.7)} = 1.3656, \quad (4.4)$$

and

$$\begin{aligned}
E_{0.9,0.9} \left(\frac{1}{3} \right) &< \frac{1}{\Gamma(0.9)} + \frac{1}{3\Gamma(1.8)} + \frac{1}{3^2\Gamma(2.7)} + \frac{1}{3} \left(\frac{1}{3^3} + \frac{1}{3^4} + \dots \right) \\
&= 1.3656 + 0.0185 = 1.3841.
\end{aligned} \tag{4.5}$$

Similarly, we have

$$E_{\alpha,\alpha}(|\lambda|t_1^\alpha) = E_{\alpha,\alpha}(|\lambda|(1-t_1)^\alpha) = E_{0.9,0.9} \left(\frac{1}{3 \cdot 2^{0.9}} \right) < 1.149. \tag{4.6}$$

By (4.4)-(4.6) and simple calculation, we can obtain the estimation of M_1, M_2, M_3, M_4, N_1 and N_2 (are as in (3.3)-(3.8) as follows :

$$M_1 < 3.019, \quad M_2 < 1.9351, \quad M_3 < 4.2091,$$

$$M_4 < 2.4333, \quad N_1 < 3.6153, \quad N_2 < 5.6709.$$

Hence, we get

$$\max\{k(M_1 + M_2) + lN_1, k(M_3 + M_4) + lN_2\} = 0.9898 < 1,$$

that is (3.10) holds. So, it follows from Theorem 3.2 that the BVP (4.1)-(4.3) has a unique solution in $PC_{0,1}[0, 1]$.

Acknowledgements

The authors would like to thank the referee for their valuable suggestions and comments. This work is supported by the National Natural Science Foundation of China (10771212).

References

- [1] S. Zhang, Monotone iterative method for initial value problem involving Riemann-Liouville fractional derivatives, *Nonlinear Analysis* 71 (2009) 2087-2093.
- [2] M. Belmekki, J. J. Nieto, R. Rodriguez-López, Existence of periodic solution for a nonlinear fractional differential equation, *Boundary Value Problems* 2009 (2009), Art. ID 324561.
- [3] S. G. Samko, A. A. Kilbas, O. I. Marichev, *Fractional Integrals and Derivatives: Theory and Applications*, Gordon and Breach, Yverdon, 1993.
- [4] K. S. Miller and B. Ross, *An Introduction to the Fractional Calculus and Fractional Differential Equations*, Wiley, New York, 1993.
- [5] I. Podlubny, *Fractional Differential Equations*, Academic Press, San Diego, 1999.
- [6] A. A. Kilbas, H. M. Srivastava, J.J. Trujillo, *Theory and Applications of Fractional Differential Equations*, Elsevier, Amsterdam, 2006.
- [7] V. Lakshmikantham, S. Leela, J. Vasundhara Devi, *Theory of Fractional Dynamic Systems*, Cambridge Academic Publishers, Cambridge, 2009.

- [8] D. Delbosco, L. Rodino, Existence and uniqueness for a nonlinear fractional differential equation, *J. Math. Anal. Appl.* 204 (1996) 609-625.
- [9] A. M. A. El-Sayed, Nonlinear functional differential equations of arbitrary orders, *Nonlinear Anal.* 33 (1998) 181-186.
- [10] A. A. Kilbas, S. A. Marzan, Nonlinear differential equations with the Caputo fractional derivative in the space of continuously differentiable functions, *Differential Equations* 41 (2005) 84-89.
- [11] K. M. Furati, N-e. Tatar, Behavior of solutions for a weighted Cauchy-type fractional differential problem, *J. Fract. Calc.* 28 (2005) 23-42.
- [12] A. A. Kilbas and J. J. Trujillo, Differential equations of fractional order: methods, results, and problems. I, *Appl. Anal.* 78 (2001) 153-192.
- [13] C. Bai and J. Fang, The existence of a positive solution for a singular coupled system of nonlinear fractional differential equations, *Appl. Math. Comput.* 150 (2004) 611-621.
- [14] C. Bai, Positive solutions for nonlinear fractional differential equations with coefficient that changes sign, *Nonlinear Analysis*, 64 (2006) 677-685.
- [15] V. Lakshmikantham, S. Leela, A Krasnoselskii-Krein-type uniqueness result for fractional differential equations, *Nonlinear Anal.* 71 (2009) 3421-3424.
- [16] A. Arara, M. Benchohra, N. Hamidi, J. J. Nieto, Fractional order differential equations on an unbounded domain, *Nonlinear Anal.* 72 (2010) 580-586.
- [17] R. P. Agarwal, V. Lakshmikantham, J. J. Nieto, On the concept of solution for fractional differential equations with uncertainty, *Nonlinear Anal.* 72 (6) (2010) 2859-2862.
- [18] Shi Kehua, Wang Yongjin, On a stochastic fractional partial differential equation driven by a Lévy space-time white noise, *J. Math. Anal. Appl.* 364 (1) (2010) 119-129.
- [19] J. V. Devi, V. Lakshmikantham, Nonsmooth analysis and fractional differential equations, *Nonlinear Anal.* 70 (12) (2009) 4151-4157.
- [20] B. Ahmad, J. J. Nieto, Existence results for a coupled system of nonlinear fractional differential equations with three-point boundary conditions, *Comput. Math. Appl.* 58 (9) (2009) 1838-1843.
- [21] N. Kosmatov, Integral equations and initial value problems for nonlinear differential equations of fractional order, *Nonlinear Anal.* 70 (7) (2009) 2521-2529.
- [22] E. Kaufmann, E. Mboumi, Positive solutions of a boundary value problem for a nonlinear fractional differential equation, *Electron. J. Qual. Theory Differ. Equ.* 2008 (2008), No. 3, 1-11.
- [23] Z. Bai, H. Lu, Positive solutions for boundary value problem of nonlinear fractional differential equation, *J. Math. Anal. Appl.* 311 (2005) 495-505.
- [24] C. Bai, Triple positive solutions for a boundary value problem of nonlinear fractional differential equation, *E. J. Qualitative Theory of Diff. Equ.* 2008 (2008), No. 24, 1-10.
- [25] Z. Wei, Q. Li, J. Che, Initial value problems for fractional differential equations involving Riemann-Liouville sequential fractional derivative, *J. Math. Anal. Appl.* 367 (2010) 260-272.

- [26] V. Lakshmikantham, D. D. Bainov, P. S. Simeonov, Theory of Impulsive Differential Equations, World Scientific, Singapore, 1989.
- [27] M. Benchohra, J. Henderson, S. K. Ntouyas, Impulsive Differential Equations and Inclusions, Hindawi, Philadelphia, 2007.
- [28] J. J. Nieto, Impulsive resonance periodic problems of first order, Appl. Math. Lett. 15 (2002) 489-493.
- [29] C. C. Tisdell, Existence of solutions to first-order periodic boundary value problems, J. Math. Anal. Appl. 323 (2006) 1325-1332.
- [30] Z. Luo, J. J. Nieto, New results for the periodic boundary value problem for impulsive integro-differential equations, Nonlinear Anal. TMA 70 (2009) 2248-2260.
- [31] B. Ahmad, Existence of solutions for second order nonlinear impulsive boundary value problems, Elect. J. Differential Equations, Vol. 2009(2009), No. 68, 1-7.
- [32] G. Wang, B. Ahmad, L. Zhang, Impulsive anti-periodic boundary value problem for nonlinear differential equations of fractional order, Nonlinear Analysis, 74 (2011) 792-804.
- [33] R. P. Agarwal, B. Ahmad, Existence of solutions for impulsive anti-periodic boundary value problems of fractional semilinear evolution equations, Dyna. Contin. Discrete Impuls. Syst., Ser. A, Math. Anal., to appear.
- [34] B. Ahmad, J. J. Nieto, Existence of solutions for anti-periodic boundary value problems involving fractional differential equations via Leray-Schauder degree theory, Topological Methods in Nonlinear Analysis 35(2010), 295-304.
- [35] B. Ahmad, S. K. Ntouyas, Some existence results for boundary value problems fractional differential inclusions with non-separated boundary conditions, Electron. J. Qual. Theory Differ. Equ. 2010, No. 71, 1-17.
- [36] R. P. Agarwal, M. Benchohra, B. A. Slimani, Existence results for differential equations with fractional order and impulses, Mem. Differential Equations Math. Phys. 44 (2008) 1-21.
- [37] M. Benchohra, B. A. Slimani, Impulsive fractional differential equations, Electron. J. Differential Equations 2009 (10) 1-11.
- [38] Y. Tian, Z. Bai, Existence results for the three-point impulsive boundary value problem involving fractional differential equations, Computers and Mathematics with Applications 59 (2010), 2601-2609.
- [39] X. Zhang, X. Huang, Z. Liu, The existence and uniqueness of mild solutions for impulsive fractional equations with nonlocal conditions and infinite delay, Nonlinear Analysis: Hybrid Systems 4 (2010), 775-781.
- [40] G. M. Mophou, Existence and uniqueness of mild solutions to impulsive fractional differential equations, Nonlinear Anal. 72 (2010) 1604-1615.
- [41] B. Ahmad, S. Sivasundaram, Existence results for nonlinear impulsive hybrid boundary value problems involving fractional differential equations, Nonlinear Analysis: Hybrid Systems 3 (2009) 251-258.

(Received September 5, 2010)